HEHYTFRY— YR —BheE—E

AL X
EAb = ¥R TR x4 Y—EZRA
1 | &5 ZRE—VHE 2hBH BR5E EffifE& 1 0%O0F F /5% &5 %O0FF
2 |N=9AVEFRINRTVLYT 4 AHFRNIRT MR’ VZhFUYZ 1Y —ER
3 |RARBRINLOEG AFRIIET HEER LYZLRAN (72 ARZFN - RZREFI) BHER
4 1E>&H - L AFRNIRPRIE AAFRNIET BRE BRYLEBAIC2E, 54 (FLyory /it 1EAY—ER
A12YF7V b2 bh7 )
5 HAFAIIES RE >3 DE:3%
AFRNIE TV LOHSCHE ? NAZKREYRE
6 |TERENER AHFR)IRES ERZ  |BEATYRA-F(RIRE-R) ERERER13,000M0 & 5 %3,000MC THER
7 |vbtER 2hBH ER%E  |BEATYRF—-F(x7RE—2) FEEREE13,00000 & 5 %5,000M THER




